

Name: Khalea Olusola Buntaha
 Dept: MBBS
 Matric no: 19/M11001201
 Course: Math 104

Assignment

1) $\int \sin^6 x dx$
 $\int \sin^6 x dx = \int \sin^4 x \cdot (\sin^2 x)^2 dx$
 $\sin^2 x = 1 - \cos^2 x$

$$\int \sin^6 x dx = \int \left(\frac{1 - \cos 2x}{2} \right)^2 (1 - \cos 2x)^2 dx$$

$$= \int \left(\frac{1 - \cos 2x}{2} \right)^4 dx$$

$$= \int \left(\frac{1 - \cos 2x}{2} \right)^2 \left(\frac{1 - 2\cos 2x + \cos^2 2x}{4} \right) dx$$

$$= \frac{1}{8} \int (1 - \cos 2x) (1 - 2\cos 2x + \cos^2 2x) dx$$

$$= \frac{1}{8} \int (1 - 2\cos 2x + \cos^2 2x - \cos 2x + 2\cos^2 2x - \cos^3 2x) dx$$

$$= \frac{1}{8} \int (1 - 3\cos 2x + 3\cos^2 2x - \cos^3 2x) dx$$

$$= \frac{1}{8} \int \left[1 - 3\cos 2x + 3 \left(\frac{1 + \cos 4x}{2} \right) - \cos 2x (1 + \sin^2 2x) \right] dx$$

$$= \frac{1}{8} \int \left[1 - 3\cos 2x + \frac{3}{2} + \frac{3\cos 4x}{2} - \cos 2x + \cos 2x \sin^2 2x \right] dx$$

$$= \frac{1}{8} \int \left[\frac{5}{2} - 2\cos 2x - 4\cos 2x + \frac{3\cos 4x}{2} + \cos 2x \sin^2 2x \right] dx$$

$$\int \sin^6 x dx = \frac{1}{8} \left[\frac{5}{2} x - 2\sin 2x - \frac{3\sin 4x}{8} + \frac{3\sin^3 2x}{6} \right] + C$$

2) $\cos^4 x \sin^3 x$

$u = \cos x$

$\frac{du}{dx} = -\sin x$; $dx = -\frac{du}{\sin x}$

Since $\sin^2 x = 1 - \cos^2 x$

$\int \sin x \cdot \sin^2 x \cdot u^4 \cdot -\frac{du}{\sin x}$

$$\begin{aligned}
 &= \int (1 - \cos^2 x) \cdot \frac{1}{\sin x} dx \\
 &= \int (1 - \cos^2 x) \cdot \frac{1}{\sin x} dx \\
 &= \int (1 - \cos^2 x) \cdot \frac{1}{\sin x} dx \\
 &= \int (1 - \cos^2 x) \cdot \frac{1}{\sin x} dx \\
 &= \frac{1}{\sin x} - \frac{\cos^2 x}{\sin x} + C
 \end{aligned}$$

3) $\cos x \sin^3 x$ $du/du = -\sin x$
 $u = \cos x$
 $dx = -\frac{du}{\sin x}$

$$\int u \cdot \sin^3 x \cdot (\sin^2 x) \cdot \frac{-du}{\sin x}$$

$$- \int u \cdot (\sin^2 x) du$$

$$- \int u \cdot (1 - \cos^2 x) du$$

$$- \int u \cdot (1 - \cos^2 x) du$$

$$- \int u \cdot (1 - u^2) du$$

$$- \int u + u^3 du$$

$$- \frac{u^2}{2} + \frac{u^4}{4} + C$$

$$\frac{u^4}{4} - \frac{u^2}{2} + C$$

$$\frac{\cos^4 x}{4} - \frac{\cos^2 x}{2} + C$$